Das Einsdurcheins mit 13 Uben [1]

Zum grofien Einmaleins

Aufgabe 1

1. 130:13= () 10 o1 ) 8 () 5
2. 78 :13= () 8 O 4 6 7
3 104:13= O 9 O 6 (O 10 (O 8
439 .13= (O 4 O * O 2 (O 3
5 52:13= () 3 S 5 ) 4
6. 65 :13= () 2 3 ) 5 6
7. 104:13= () 3 o6 o 8 2
Aufgabe 2

1. 104:13= () 2 - 8 O 6 S
2. 26 :13= () 2 o3 6 1
3. 65 :13= () 8 () 10 5 6
4 13:13= O O 2 O 1 O 3
5. 130:13= () 10 O 6 O 2 () 7
6. 104:13= () 6 O 4 (O 8 (O 5
765 :13= () 9 o1 5 3
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Das Einsdurcheins mit 13 tben [1] | ANTWORTEN

Zum grofien Einmaleins

Aufgabe 1

1. 130 :13 = SR O () 5
2. 78 :13= () 8 4 o7
3. 104:13= () 9 o6 ) 10 ® 8
4039 :13= () 4 o7 2 ®
50 52:13= () 3 S ) 5 ® 4
6. 65 :13= () 2 3 ® 5 6
7. 104:13= () 3 o6 @ 8 o2
Aufgabe 2

1. 104:13= (O 2 6 1
2. 26 :13 = ‘I} 3 6 S
3. 65 :13= () 8 ) 10 ® 5 6
4. 13 :13= () 7 o2 @ 3
5. 130 :13 = 6 O 2 o7
6. 104:13= () 6 O 4 @ 8 () 5
765 :13= () 9 O ® 5 3
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